UDAYA PUBLIC SCHOOL, AYODHYA
SUMMATIVE ASSESSMENT-I 2022-23
CLASS- III    |    SUBJECT- MATHS     |   M.M.-100
Name- _______________
1. Fill in the blanks: 											10
a. 
b. The sum of 901 and 31 is ________. 
c. Ordinal number 20 is _________.
d. The place value of 9 in 493 is ________.
e. The correct sign between 512 and 514 will be ________.
f. All four sides of a square are ______.
g. A rectangle has ___________ sides. 
h. A hexagon has __________sides. 
i. 4806 x 0 = ______________. 
j. 4263 x 1 = ______________. 
k. 26 ÷ 26 = ______________.

2. State true or false. 										6
a. 
b. 7856 + 0 = 0 	   (		)
c. 2804 x 4 = 11216(		)
d. 9000 + 1 = 9010   (		)
e. 8909 – 1 = 8908   (		)
f. 34 x 12 = 42 x 12  (		)
g. 36 ÷ 6 = 6   	    (		)

3. Is the difference between 9000 and 400 > 8500?  						1

4. Choose the correct option. 									8
a. What is the ordinal number for 21? 
i. 21st 		ii.20th 		iii. 20
b. ‘Education’ is a 9 letter word. What is the position of the letter ‘t’ in the word ‘education’? 
i. Fifth 		ii. Sixth 	iii. Fourth 
c. What is the cardinal number of 78th? 
i. 78 			ii. 77		iii. 70
d. What is the original number after 89?
i. 90th 		ii. 90		iii. 91st 
e. 100 less than 5000 will be-
i. 5100		ii. 4900	iii. 5000
f. 7245 - __________ = 7244
i. 1			ii. 7246	iii. 7245
g. 3241 – 3241 = ___________
i. 0 			ii. 2		iii. 1
h. What will we get, if we subtract 1000 from 4984? 
i. 5984		ii. 3984	iii. 4984
SECTION – B
5. Add the following: 										8
a. 
b. Th		H	T	O
  3		4	6	7
+1		7	9	6
-------------------------------
-------------------------------
c. Th		H	T 	O
   1		3	9	4
+ 3		6	8	7
-------------------------------
-------------------------------
d. Th		H	T	O
  2		1	8	9
+3		4	5	8
-------------------------------
-------------------------------
e. Th		H	T	O
   4		7	8	1
+1		3	8	6
---------------------------------
--------------------------------
6. 
7. Find the difference of 4583-1 and name which property of subtract it is. 		3


8. Give any two examples of property of 0 of subtraction. 					3




9. Give any two examples of property of 1 of subtraction. 					3



10. Match the following. 										6
a. 49 ÷ 49					3326
b. 9880 – 4875 + 4000			49
c. 49 ÷ 1					9005
d. 6000 – 4928 + 2874			0
e. 6879 – 1247 – 4800 			1
f. 0 ÷ 49 					3946
SECTION- C
11.  Subtract the following and verify the answer. 						8
a. Th		H	T	O
   6		4	8	9
-  3		9	6	1
-------------------------------
-------------------------------
b. Th 		H	T	O
   8		1	8	4
-  5		7	9	6
--------------------------------
--------------------------------
12.  Fill in the missing digit. 										6
a. 
b.    Th	H	T	O
    2		5	5	
-		8		1
 (
9
     3
    4
    7
)---------------------------------
---------------------------------
c. Th		H	T	O
   8		3		-
-  6		9	5	8
 (
8
9
)--------------------------------
---------------------------------
13. 
14.  Solve the following. 										10
a. 3129 + 1705 – 1512 = 


b. 5319 – 4612 + 3710 = 




SECTION- D
15.  Solve the following. 										8
a. 
b. Th 		H	T	O
8	2	1
X	8
	--------------------------------------

	--------------------------------------
	--------------------------------------
c. Th 		H	T	O
3	4	0
	X	9
	--------------------------------------

	--------------------------------------
--------------------------------------
d. Th 		H	T	O
3	2	4
X	2	4
	-------------------------------------

	-------------------------------------
	--------------------------------------
e. Th		H	T	O
3	1	8
X	4	6
	------------------------------------

	------------------------------------
	------------------------------------
16. 
17.  Divide by long division method. 								10
a. 96 ÷ 5





b. 67 ÷ 6


c. 87 ÷ 15




d. 59 ÷ 12



e. 45 ÷ 2




18.  Story sums. 											6
a. In a garden, there are 1876 red flowers and 1398 yellow flowers. How many flowers are there in all? 





b. Shruti read 6 books in 540 days. How many days did she take to read one book? 





c. Write the tables of 13 and 15. 								4
	13 X 1 =
	15 X 1 =

	13 X 2 =
	15 X 2 =

	13 X 3 =
	15  X 3 = 

	13 X 4 =
	15 X 4 = 

	13 X 5 =
	15 X 5 = 

	13 X 6 = 
	15 X 6 = 

	13 X 7 = 
	15 X 7 = 

	13 X 8 = 
	15 X 8 =

	13 X 9 = 
	15 X 9 = 

	13 X 10 =
	15 X 10 =



